Scenario 5: mole-to-mole ratio CO ‘\) 2SO0, +0, — 5  2S0;

7C0, + 8H,0 \e
CrHis 1102 ’ P 658- moles of O, = 1 mol of Oy 3.6 mol of SO, = 1.8 moles of O,

NO A_ 2 mol of SO,
mole-to-mole ratio of: CO,/C;H 4 moles gg ]@"
HZO fe\hrjs HZO/ . @e’f C,Hyo+ 1320, > 4CO, + 5H,0

mole-to-mole ratio is?e ratio of the st01ch10metr1 amounts of the species involved. (number in front of molecule) 2C4H | + 130, »  8CO, + 10H,0

moles of CO, = 1.25 molesofC4H,, § molof CO,  _ 5 moles of CO,
2 morof C,H

Scenario 6: calculating = that gives off the least amount of moles of the product

H,+Cl, —> 2HCI

CiHjg+ 110,  ————  7CO,+8H0 2.5* 10% (limiting reactant because Cl, is in excess)

1 mol 2 mol of HC1 36.46 g of HCI
moles of CO, from X = Scenario 1*Scenario 5 = moles mass of HCI from H, = 2.5%103 gﬁh\ mo O}\Hg\ =90426 g of
from O, = 7000 g of 0, 1molofO, 7molesof CO, _ 2016?@’&1{2 1l molofH, 1 molof HCI HCI
32.00 g of 02 11 moles of 02
Scenario 1 Scenario 5 Scientific Notation = 9.0 * 10* g of
HCI

1 mol of C-H 7 moles of CO
From C,H = 4000 g of C;H4 716 2 =279.4 moles of CO,

100.2 g of C;H ¢ 1 moles of C;H ¢

Scenario 1 Scenario 5




